| ADDRESS | PAY ITEM | QUANTITY | UNIT | PRICE | UNIT | TOTAL COST |
|--------------------------|-------------------------------------|----------|---------|---------------|------|------------|
| 653 Vaky Street | Curb, Gutter & Pavement (Fronting) | 80.0 | LF | \$9.75 | /LF | \$780.00 |
| VickyL. & John L. Harvin | Curb, Gutter & Pavement (Siding) | 74.0 | LF | \$4.88 | /LF | \$361.12 |
| Lot 15 & W 20' of Lot 16 | 4' Sidewalk (Fronting) | 337.0 | SF | \$1.00 | /SF | \$337.00 |
| Block 32 | 4' Sidewalk (Siding) | 142.0 | SF | \$0.50 | /SF | \$71.00 |
| Lindale Park 3 Subd. | Driveway A (In ROW) | 136.5 | SF | \$6.10 | /SF | \$832.65 |
| | Driveway A (Behind ROW) (CONC-CONC) | 0.0 | SF | \$6.10 | /SF | \$0.00 |
| | | | Total A | Assessment Co | st: | \$2,381.77 |
| | | | | | | |
| 654 Vaky Street | Curb, Gutter & Pavement (Fronting) | 77.0 | LF | \$9.75 | /LF | \$750.75 |
| John Boyd Graham | Curb, Gutter & Pavement (Siding) | 68.0 | LF | \$4.88 | /LF | \$331.84 |
| Lot 14, Block 29 | 4' Sidewalk (Fronting) | 350.5 | SF | \$1.00 | /SF | \$350.50 |
| Lindale Park 3 Subd. | 4' Sidewalk (Siding) | 143.0 | SF | \$0.50 | /SF | \$71.50 |
| | Driveway (In ROW) | 0.0 | SF | \$6.10 | /SF | \$0.00 |
| | Driveway (Behind ROW) | 0.0 | SF | \$6.10 | /SF | \$0.00 |
| | | | Total A | Assessment Co | st: | \$1,504.59 |
| 649 Vaky Street | Curb, Gutter & Pavement (Fronting) | 65.0 | LF | \$9.75 | /LF | \$633.75 |
| Sophie Ruiz | Curb, Gutter & Pavement (Siding) | 0.0 | | \$4.88 | | \$0.00 |
| E40' of Lot 16 & W25' of | 4' Sidewalk (Fronting) | 237.0 | | \$1.00 | | \$237.00 |
| Lot 17, Block 32 | 4' Sidewalk (Siding) | 0.0 | | \$0.50 | | \$0.00 |
| Lindale Park 3 Subd. | Driveway A (In ROW) | 134.0 | | \$6.10 | | \$817.40 |
| | Driveway A (Behind ROW) (CONC-CONC) | 0.0 | | \$6.10 | | \$0.00 |
| | | 0.0 | | Assessment Co | | \$1,688.15 |
| | | | | | | |
| 650 Vaky Street | Curb, Gutter & Pavement (Fronting) | 61.0 | LF | \$9.75 | /LF | \$594.75 |
| Gilda Garcia | Curb, Gutter & Pavement (Siding) | 0.0 | LF | \$4.88 | /LF | \$0.00 |
| Lot 13, Block 29 | 4' Sidewalk (Fronting) | 221.5 | SF | \$1.00 | /SF | \$221.50 |
| Lindale Park 3 Subd. | 4' Sidewalk (Siding) | 0.0 | SF | \$0.50 | /SF | \$0.00 |
| | Driveway B (In ROW) | 140.0 | SF | \$6.10 | /SF | \$854.00 |
| | Driveway B (Behind ROW) (CONC-CONC) | 0.0 | SF | \$6.10 | /SF | \$0.00 |
| | | | Total A | Assessment Co | st: | \$1,670.25 |
| 646 Vaky Street | Curb, Gutter & Pavement (Fronting) | 61.0 | l F | \$9.75 | /I F | \$594.75 |
| John Joseph Daws | Curb, Gutter & Pavement (Siding) | 0.0 | | \$4.88 | | \$0.00 |
| Lot 12, Block 29 | 4' Sidewalk (Fronting) | 250.5 | | \$1.00 | | \$250.50 |
| Lindale Park 3 Subd. | 4' Sidewalk (Siding) | 0.0 | | \$0.50 | | \$0.00 |
| Elliadio Fark o Gabar | Driveway C (In ROW) | 149.0 | | \$6.10 | | \$908.90 |
| | Driveway C (Behind ROW) (CONC-CONC) | 0.0 | | \$6.10 | | \$0.00 |
| | | 0.0 | | Assessment Co | | \$1,754.15 |
| | | | | | | |
| 645 Vaky Street | Curb, Gutter & Pavement (Fronting) | 65.0 | | \$9.75 | | \$633.75 |
| Genny J. McNabb | Curb, Gutter & Pavement (Siding) | 0.0 | | \$4.88 | | \$0.00 |
| E35' of Lot 17 & W30' of | 4' Sidewalk (Fronting) | 223.0 | | \$1.00 | | \$223.00 |
| Lot 18, Block 32 | 4' Sidewalk (Siding) | 0.0 | | \$0.50 | | \$0.00 |
| Lindale Park 3 Subd. | Driveway D (In ROW) | 148.0 | SF | \$6.10 | /SF | \$902.80 |
| | Driveway D (Behind ROW) (CONC-CONC) | 0.0 | | \$6.10 | | \$0.00 |
| | | | Total A | Assessment Co | ost: | \$1,759.55 |
| | | | | | | |
| 642 Vaky Street | Curb, Gutter & Pavement (Fronting) | 60.5 | | \$9.75 | | \$589.88 |
| Mary L. Hoeckle | Curb, Gutter & Pavement (Siding) | 0.0 | | \$4.88 | | \$0.00 |
| c/o Donald Hoeckle ET AL | 4' Sidewalk (Fronting) | 221.0 | | \$1.00 | | \$221.00 |
| Lot 11, Block 29 | 4' Sidewalk (Siding) | 0.0 | | \$0.50 | | \$0.00 |
| Lindale Park 3 Subd. | Driveway E (In ROW) | 140.0 | | \$6.10 | | \$854.00 |
| | Driveway E (Behind ROW) (CONC-CONC) | 0.0 | SF | \$6.10 | /SF | \$0.00 |
| | | | Total A | Assessment Co | st: | \$1,664.88 |

12/20/2012 1 of 4

| 639 Vaky Street | Curb, Gutter & Pavement (Fronting) | 65.0 | LF | \$9.75 /LF | \$633.75 |
|---------------------------|-------------------------------------|-------|-----------|-----------------|-------------------------|
| Rebecca A. Dulin | Curb, Gutter & Pavement (Siding) | 0.0 | LF | \$4.88 /LF | \$0.00 |
| E30' of Lot 18 & W35' of | 4' Sidewalk (Fronting) | 239.0 | SF | \$1.00 /SF | \$239.00 |
| Lot 19, Block 32 | 4' Sidewalk (Siding) | 0.0 | SF | \$0.50 /SF | \$0.00 |
| Lindale Park 3 Subd. | Driveway F (In ROW) | 140.0 | SF | \$6.10 /SF | \$854.00 |
| Emidale Fair 5 Subd. | Driveway F (Behind ROW) (CONC-CONC) | 0.0 | | \$6.10 /SF | \$0.00 |
| | | | | ssessment Cost: | \$1,726.75 |
| | | | | | , , |
| 638 Vaky Street | Curb, Gutter & Pavement (Fronting) | 60.5 | LF | \$9.75 /LF | \$589.88 |
| Juanita R. Almeida | Curb, Gutter & Pavement (Siding) | 0.0 | LF | \$4.88 /LF | \$0.00 |
| Lot 10, Block 29 | 4' Sidewalk (Fronting) | 203.5 | SF | \$1.00 /SF | \$203.50 |
| Lindale Park 3 Subd. | 4' Sidewalk (Siding) | 0.0 | SF | \$0.50 /SF | \$0.00 |
| | Driveway G (In ROW) | 140.0 | SF | \$6.10 /SF | \$854.00 |
| | Driveway G (Behind ROW) (CONC-CONC) | 0.0 | SF | \$6.10 /SF | \$0.00 |
| | | | Total As | ssessment Cost: | \$1,647.38 |
| | | 05.0 | | 00.75 // 5 | # 000 7 5 |
| 635 Vaky Street | Curb, Gutter & Pavement (Fronting) | 65.0 | | \$9.75 /LF | \$633.75 |
| Jennifer M. Perales | Curb, Gutter & Pavement (Siding) | 0.0 | | \$4.88 /LF | \$0.00 |
| E25' of Lot 19 & W40' of | 4' Sidewalk (Fronting) | 243.0 | | \$1.00 /SF | \$243.00 |
| Lot 20, Block 32 | 4' Sidewalk (Siding) | 0.0 | | \$0.50 /SF | \$0.00 |
| Lindale Park 3 Subd. | Driveway H (In ROW) | 140.0 | | \$6.10 /SF | \$854.00 |
| 410 Cape Hatteras Dr. | Driveway H (Behind ROW) (CONC-CONC) | 0.0 | | \$6.10 /SF | \$0.00 |
| Corpus Christi, TX 78412 | | | I otal As | ssessment Cost: | \$1,730.75 |
| 634 Vaky Street | Curb, Gutter & Pavement (Fronting) | 60.5 | LF | \$9.75 /LF | \$589.88 |
| Elizabeth A. Foster | Curb, Gutter & Pavement (Siding) | 0.0 | | \$4.88 /LF | \$0.00 |
| Lot 9, Block 29 | 4' Sidewalk (Fronting) | 228.0 | | \$1.00 /SF | \$228.00 |
| Lindale Park 3 Subd. | 4' Sidewalk (Siding) | 0.0 | | \$0.50 /SF | \$0.00 |
| Emaile Fair 5 Gaba. | Driveway I (In ROW) | 140.0 | | \$6.10 /SF | \$854.00 |
| | Driveway I (Behind ROW) (CONC-CONC) | 0.0 | | \$6.10 /SF | \$0.00 |
| | | | Total As | \$1,671.88 | |
| | | | | | |
| 629 Vaky Street | Curb, Gutter & Pavement (Fronting) | 65.5 | LF | \$9.75 /LF | \$638.63 |
| Leticia Yvette Castaneda | Curb, Gutter & Pavement (Siding) | 0.0 | | \$4.88 /LF | \$0.00 |
| E20' of Lot 20 & W45' of | 4' Sidewalk (Fronting) | 245.5 | | \$1.00 /SF | \$245.50 |
| Lot 21, Block 32 | 4' Sidewalk (Siding) | 0.0 | | \$0.50 /SF | \$0.00 |
| Lindale Park 3 Subd. | Driveway J (In ROW) | 128.0 | | \$6.10 /SF | \$780.80 |
| | Driveway J (Behind ROW) (CONC-CONC) | 0.0 | SF | \$6.10 /SF | \$0.00 |
| | | | Total As | ssessment Cost: | \$1,664.93 |
| 625 Vaky Street | Curb, Gutter & Pavement (Fronting) | 70.0 | LE | \$9.75 /LF | \$682.50 |
| William Allan Stark | Curb, Gutter & Pavement (Fioliting) | 0.0 | | \$4.88 /LF | \$0.00 |
| E150' of Lot 21 & W55' of | 4' Sidewalk (Fronting) | 261.0 | | \$1.00 /SF | \$261.00 |
| Lot 22, Block 32 | 4' Sidewalk (Siding) | 0.0 | | \$0.50 /SF | \$0.00 |
| Lindale Park 3 Subd. | Driveway J (In ROW) | 125.0 | | \$6.10 /SF | \$762.50 |
| Lindale Fair o oasa. | Driveway J (Behind ROW) (CONC-CONC) | 0.0 | | \$6.10 /SF | \$0.00 |
| | | | | ssessment Cost: | \$1,706.00 |
| | | | | | . , |
| 630 Vaky Street | Curb, Gutter & Pavement (Fronting) | 60.0 | LF | \$9.75 /LF | \$585.00 |
| Martha S. Loftin | Curb, Gutter & Pavement (Siding) | 0.0 | LF | \$4.88 /LF | \$0.00 |
| Lot 8, Block 29 | 4' Sidewalk (Fronting) | 229.0 | SF | \$1.00 /SF | \$229.00 |
| Lindale Park 3 Subd. | 4' Sidewalk (Siding) | 0.0 | SF | \$0.50 /SF | \$0.00 |
| | Driveway K (In ROW) | 140.0 | SF | \$6.10 /SF | \$854.00 |
| | Driveway K (Behind ROW) (CONC-CONC) | 0.0 | SF | \$6.10 /SF | \$0.00 |
| | | | Total As | ssessment Cost: | \$1,668.00 |

12/20/2012 2 of 4

| 621 Vaky Street | Curb, Gutter & Pavement (Fronting) | 70.0 | LF | \$9.75 /LF | \$682.50 |
|--------------------------------|--|-------|------------|------------------|-----------------------------|
| Richard Lee Grimes | Curb, Gutter & Pavement (Siding) | 0.0 | | \$4.88 /LF | \$0.00 |
| E5' of Lot 22, All of Lot 23 & | | 261.0 | | \$1.00 /SF | \$261.00 |
| W5' of Lot 24, Block 32 | 4' Sidewalk (Siding) | 0.0 | | \$0.50 /SF | \$0.00 |
| Lindale Park 3 Subd. | Driveway L (In ROW) | 140.0 | | \$6.10 /SF | \$854.00 |
| Lindale Park 3 Subd. | Driveway L (Behind ROW) (CONC-CONC) | 0.0 | | \$6.10 /SF | \$0.00 |
| | Diversely E (Bermin News) (Berne Berne) | 0.0 | | Assessment Cost: | \$1,797.50 |
| | | | Total | issessment oost. | Ψ1,737.30 |
| 626 Vaky Street | Curb, Gutter & Pavement (Fronting) | 60.5 | LF | \$9.75 /LF | \$589.88 |
| Marilyn D. Brenek | Curb, Gutter & Pavement (Siding) | 0.0 | LF | \$4.88 /LF | \$0.00 |
| Lot 7, Block 29 | 4' Sidewalk (Fronting) | 226.5 | SF | \$1.00 /SF | \$226.50 |
| Lindale Park 3 Subd. | 4' Sidewalk (Siding) | 0.0 | SF | \$0.50 /SF | \$0.00 |
| 13406 Langtry | Driveway M (In ROW) | 140.0 | SF | \$6.10 /SF | \$854.00 |
| San Antonio, TX 78248 | Driveway M (Behind ROW) (CONC-CONC) | 0.0 | SF | \$6.10 /SF | \$0.00 |
| | | | Total A | ssessment Cost: | \$1,670.38 |
| | | | | | |
| 622 Vaky Street | Curb, Gutter & Pavement (Fronting) | 60.0 | LF | \$9.75 /LF | \$585.00 |
| Jesse Albert Bueno | Curb, Gutter & Pavement (Siding) | 0.0 | LF | \$4.88 /LF | \$0.00 |
| Lot 6, Block 29 | 4' Sidewalk (Fronting) | 227.5 | SF | \$1.00 /SF | \$227.50 |
| Lindale Park 3 Subd. | 4' Sidewalk (Siding) | 0.0 | SF | \$0.50 /SF | \$0.00 |
| | Driveway N (In ROW) | 140.0 | SF | \$6.10 /SF | \$854.00 |
| | Driveway N (Behind ROW) (CONC-CONC) | 0.0 | SF | \$6.10 /SF | \$0.00 |
| | | | Total A | assessment Cost: | \$1,666.50 |
| 047 Value Otra at | Comb Contrar 9 Decrease and (Franchises) | 74.0 | | ФО 75 /I Б | фсоо ог |
| 617 Vaky Street | Curb, Gutter & Pavement (Fronting) | 71.0 | | \$9.75 /LF | \$692.25 |
| Debbie Ann Garza | Curb, Gutter & Pavement (Siding) | 0.0 | | \$4.88 /LF | \$0.00 |
| E55' of Lot 24 & W15' of | 4' Sidewalk (Fronting) | 250.5 | | \$1.00 /SF | \$250.50 |
| Lot 25, Block 32 | 4' Sidewalk (Siding) | 0.0 | | \$0.50 /SF | \$0.00 |
| Lindale Park 3 Subd. | Driveway O (In ROW) | 140.0 | | \$6.10 /SF | \$854.00 |
| | Driveway O (Behind ROW) (CONC-CONC) | 0.0 | | \$6.10 /SF | \$0.00 \$1,796.75 |
| | | | 1 0 10.1 7 | | 4 1,1 0 0 11 0 |
| 611 Vaky Street | Curb, Gutter & Pavement (Fronting) | 75.5 | LF | \$9.75 /LF | \$736.13 |
| Ramona Garcia Gonzales | Curb, Gutter & Pavement (Siding) | 0.0 | LF | \$4.88 /LF | \$0.00 |
| E45' of Lot 25 & W30' of | 4' Sidewalk (Fronting) | 281.0 | SF | \$1.00 /SF | \$281.00 |
| Lot 26, Block 32 | 4' Sidewalk (Siding) | 0.0 | SF | \$0.50 /SF | \$0.00 |
| Lindale Park 3 Subd. | Driveway P (In ROW) | 140.0 | SF | \$6.10 /SF | \$854.00 |
| | Driveway P (Behind ROW) (CONC-CONC) | 0.0 | SF | \$6.10 /SF | \$0.00 |
| | | | Total A | assessment Cost: | \$1,871.13 |
| C49 Valor Strant | Curb Cuttor & Davisment (Frantism) | 00.0 | I E | ФО 75 /I Б | ФЕОГ 00 |
| 618 Vaky Street | Curb Cutter & Pavement (Fronting) | 60.0 | | \$9.75 /LF | \$585.00 |
| Robert W. McLain | Curb, Gutter & Pavement (Siding) | 0.0 | | \$4.88 /LF | \$0.00 |
| Lot 5, Block 29 | 4' Sidewalk (Fronting) | 208.5 | | \$1.00 /SF | \$208.50 |
| Lindale Park 3 Subd. | 4' Sidewalk (Siding) | 0.0 | | \$0.50 /SF | \$0.00 |
| 4113 Harry St. | Driveway Q (In ROW) | 209.0 | | \$6.10 /SF | \$1,274.90 |
| Corpus Christi, TX 78411 | Driveway Q (Behind ROW) (CONC-CONC) | 0.0 | | \$6.10 /SF | \$0.00 \$2,068.40 |
| | | | TOtal A | assessment Cost. | \$2,000.40 |
| 614 Vaky Street | Curb, Gutter & Pavement (Fronting) | 60.0 | LF | \$9.75 /LF | \$585.00 |
| Leticia Garza | Curb, Gutter & Pavement (Siding) | 0.0 | LF | \$4.88 /LF | \$0.00 |
| Lot 4, Block 29 | 4' Sidewalk (Fronting) | 220.5 | SF | \$1.00 /SF | \$220.50 |
| Lindale Park 3 Subd. | 4' Sidewalk (Siding) | | SF | \$0.50 /SF | \$0.00 |
| | Driveway R (In ROW) | 140.0 | SF | \$6.10 /SF | \$854.00 |
| | Driveway R (Behind ROW) (CONC-CONC) | 0.0 | | \$6.10 /SF | \$0.00 |
| | | | | ssessment Cost: | \$1,659.50 |

12/20/2012 3 of 4

| 607 Vaky Street | Curb, Gutter & Pavement (Fronting) | 80.0 | LF | \$9.75 | /LF | \$780.00 |
|-------------------------------|--|-------|------------------------|---------------|----------|------------|
| Arthur/Angelica Flores | Curb, Gutter & Pavement (Siding) | 0.0 | LF | \$4.88 | /LF | \$0.00 |
| Granado | 4' Sidewalk (Fronting) | 306.0 | SF | \$1.00 | /SF | \$306.00 |
| E30' of Lot 26 & W45' of | 4' Sidewalk (Siding) | 0.0 | SF | \$0.50 | /SF | \$0.00 |
| Lot 27, Block 32 | Driveway S (In ROW) | 140.0 | SF | \$6.10 | /SF | \$854.00 |
| Lindale Park 3 Subd. | Driveway S (Behind ROW) (CONC-CONC) | 0.0 | SF | \$6.10 | /SF | \$0.00 |
| | | | Total Assessment Cost: | | | \$1,940.00 |
| 610 Vaky Street | Curb, Gutter & Pavement (Fronting) | 59.5 | LF | \$9.75 | /LF | \$580.13 |
| Carmen C. Torres | Curb, Gutter & Pavement (Siding) | 0.0 | | \$4.88 | | \$0.00 |
| Lot 3, Block 29 | 4' Sidewalk (Fronting) | 220.0 | SF | \$1.00 | | \$220.00 |
| Lindale Park 3 Subd. | 4' Sidewalk (Siding) | 0.0 | SF | \$0.50 | /SF | \$0.00 |
| | Driveway T (In ROW) | 140.0 | SF | \$6.10 | | \$854.00 |
| | Driveway T (Behind ROW) (CONC-CONC) | 0.0 | SF | \$6.10 | | \$0.00 |
| | | | | Assessment Co | | \$1,654.13 |
| 606 Vaky Street | Curb, Gutter & Pavement (Fronting) | 60.0 | I E | \$9.75 | /I E | \$585.00 |
| David R. Powell | Curb, Gutter & Pavement (Fronting) | 0.0 | | \$4.88 | | \$0.00 |
| Lot 2, Block 29 | 4' Sidewalk (Fronting) | 118.0 | | \$1.00 | | \$118.00 |
| Lindale Park 3 Subd. | 4' Sidewalk (Siding) | | SF | \$0.50 | | \$0.00 |
| 4118 Holly Dr. | Driveway (In ROW) | 0.0 | | \$6.10 | | \$0.00 |
| Corpus Christi, TX 78411 | Driveway (IT KOW) Driveway (Behind ROW) (CONC-CONC) | 0.0 | | \$6.10 | | \$0.00 |
| Corpus Critisti, 17, 70411 | Driveway (Berlind ROW) (CONC-CONC) | 0.0 | | | | |
| | | | Total | Assessment Co | St. | \$703.00 |
| 602 Vaky Street | Curb, Gutter & Pavement (Fronting) | 25.0 | LF | \$9.75 | /LF | \$243.75 |
| Lynda Achsa Janell Jones | Curb, Gutter & Pavement (Siding) | 0.0 | LF | \$4.88 | /LF | \$0.00 |
| Lot 1, Block 29 | 4' Sidewalk (Fronting) | 0.0 | SF | \$1.00 | /SF | \$0.00 |
| Lindale Park 3 Subd. | 4' Sidewalk (Siding) | 0.0 | SF | \$0.50 | /SF | \$0.00 |
| | Driveway (In ROW) | 0.0 | SF | \$6.10 | /SF | \$0.00 |
| | Driveway (Behind ROW) (CONC-CONC) | 0.0 | SF | \$6.10 | /SF | \$0.00 |
| | | | Total Assessment Cost: | | \$243.75 | |
| 601 Vaky Street | Curb, Gutter & Pavement (Fronting) | 61.0 | LF | \$9.75 | /LF | \$594.75 |
| Mary Ann Shaw | Curb, Gutter & Pavement (Siding) | 0.0 | | \$4.88 | | \$0.00 |
| E15' of Lot 27 & All of Lot 2 | | 143.0 | SF | \$1.00 | | \$143.00 |
| Block 32 | 4' Sidewalk (Siding) | 0.0 | SF | \$0.50 | | \$0.00 |
| Lindale Park 3 Subd. | Driveway (In ROW) | 0.0 | SF | \$6.10 | | \$0.00 |
| | Driveway (Behind ROW) (CONC-CONC) | | SF | \$6.10 | | \$0.00 |
| | | | Total | Assessment Co | st: | \$737.75 |

12/20/2012 4 of 4